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What 1s Same with Tarff
@ Tncrease PS |, decrease CS
@ Reduce Imports
® Raise price of goods

amount of Import before Tmport quota : 65
@ amount of mpot after Import quota: 35

(quota : 35)

B What is diffient with Tadff
Toritf vaise. dovernment levenue,

( Tox x Awoant of
Tnpovks)

Quota Rents ( Quota X ( qu‘ Rc)) is Economic rents,

but Im?okt Quota do not mise
govemmerrt levenue .
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Tt {5 “Net Loss' to Country. Becruse sutplus loss Ts larger than surplus gain.

m)  Specific Tarifs is levied as fixed charge for each unrt of goods fmported.
Ad valorem Tartf is levied as a fraction of the value of the Tmported goods.

§)  NTB (Non TarF Batvter)
examples : © SPS ( Sonttary and Phytogantary Measures)
@ TBT ( Technical Bamers +o Tmale)(‘

9) Expott Tax (Small Country)
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8) U.S. have an absolute advantage in the production both wheat and beef.

Because |).S5 Amount of PFroduction per wit of labor' of heat and beef are
|larger than Argentinas.
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d) U.S. have comparative advantage in wheat.
Beraus_c/tj\?gff;oHunT+ies cost of wheat froduc-b'ron 15 Smaller than Arentina.
Argentina hare comparative advantage i Beef.
Because Araenﬁna S5 opportunriies Cost of Beef Pmduc{:fon & smaller han U.S..
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d) US. have comparative advantage T wheat production.

.8 % oFf’uhtnnf—f-}j CoSt of wheat Ts Smaller then Ar'ge.ntina.'s.

Argentina. have comparative advantage In beef production.

Because AF’acn’c'frw-.'s opputturity cost of beet is Smaller then U.S.5.



12)  oppurtuntty cost
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answer 1s() v

Home country have Compurative advantage Tn Cloth production
Foreign country have compartive advantage i Widgets production.

/13) Wages were to double

example] Home  Country’s wage (per how) = $1 =7 x2Z 2$2
cloth Lunit = [0 labor=%10 _ %20
widget 1 unt = 20 abor =420  wagexa $40

Rising wages have raised costs for production, but there 7s N0 change Tn the number
oF labor required. So oppurtunity cost Ts Same. ¢

Home countyy Should export cloth. | L gpmds wases we ©F |
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O O
O Is production per 1 hour

50, $20  weans production cost of 1 unk D'Fgaoo(s.
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15)Local content requirement is regulation that tequires Some spedtied fraction of 2 final good to be produced

dlomestically. For example, 4 certain percentage of the value o the final grod To regulated
to be produced domestically. ;

Local content has a Simlar effect with Tmport quota. So T benefrts domestic producers.

In the short term, the price difference between Tmported and local puts Tc passed onto consumers.
R ‘f\",‘u ~ ( domestic Tnpwt Te more expensive) ( at Final price of g_aaaLc)
In thelong term, Local comtent Ts Tnefélcient , Tt way hut enplogment and

dustrial Competiveness. And Tt may reduce trade.

Tt Ts more efficient to import product Proo!uced wbroad than domestically, local content hams many areas
because T forcas them to ue domestically produced producte. Constdering opportunity costs, ¢ would be
better to Fhcus on Qoods that can be produced at o lower production Cost at home, |

<€Ka,mplc >

O Msrway offshore ndustry (19708) =

I4 overseas company wants to obtain pepmiseion to explore or develop ofl or gas i Noway
Tt 75 requires +the Sianing of an RED partnersip With a local Monwelglan Company .

@ Brazil's Mational Agency of Petroleum , Netural Gas and Biofuele (2007 .11)
" Regulation ANP no. 6’ 4

Tt 15 mandatory to use olomestic products and eriices by 25 to 847 by Step Tn the oil or gas
equipment and sewice Tadustry.





